Algebra 1 Unit 1 TEST REVIEW
Use the scenario and table below to answer questions 1, 2, and 3
A teacher collected data for two different quizzes. The table of values below show the relationship between the number of points scored on Quiz 1 and the number of points scored on Quiz 2.
	Quiz 1
	Quiz 2

	30
	25

	35
	25

	55
	65

	65
	60

	80
	85

	95
	85



1. (A.4A) Calculate the correlation coefficient between the points scored on the two quizzes. Answer this question using the number grid. Round to the nearest hundredth (2 decimal places).


0. (A.4C) Find the best fit line that describes the relationship between the number of points on Quiz 1 and the number of points scored on Quiz 2.


0. (A.4A) Identify the type of correlation.

Weak     or        Strong                              Positive    or      Negative

0. (A.4A and A.4B) The table shows the altitude of an airplane and the temperature outside a plane. 
	Altitude (meters)
	1000
	2000
	3000
	4000
	5000
	6000
	7000

	Temperature (Celsius)
	12.5
	5.25
	2
	-3.25
	-7.5
	-10.75
	-14



Which words most accurately describe the correlation and causation for the data set? 
Strong or weak?            Positive or negative?             Causation likely or causation unlikely?

5.  (A.4A and A.4B) The scatterplot shows the relationship between effects of global warming and ants on an anthill.
[image: https://lh3.googleusercontent.com/2caHgtg0cgD3KnCcjkjRtZOCBO5HRXH6jmJKFnlp2dxXRU95gyjKAor9B8eu2SFQXa7tEsf6_GyGvo5Nny2aXxFoHWX8yRkiSIcAuomdSCFLBaOqjEi13TkvYt3t257gA7VWbW2S]Ants counted on an Anthill
Levels of radiation in the atmosphere (per million)

Which words accurately describe the correlation and causation for the data set?  Strong or weak…..positive or negative
                                                                                                                                        Causation likely or unlikely


0. (A.12A) Which graph does not represent y as a function of x? 

A.                                              B.                                           C.                                                  D.                  [image: https://lh6.googleusercontent.com/doTRUi-x1m9LPxRo9efH-8ivSJd5cYeDu4f95BDEe5w2ULJp6HRuN7roA9KEcqdWsNA0oU_0dWchDCKllEdT6R3-uEb6D980YgDwfdo8wkd8i2pxgFpNv2926n2xEclf9_rLNHU2][image: https://lh4.googleusercontent.com/JnzpJFoWftMXBSpxMwMSTEEmbyGwtUc-0plq8dRre0MkACf6DeWh0PqOxg6jJxZnBL6bpxVTbc16csKvhEJRZs0dixYcr7RF_QG3raOxmGe0SCS662UsHvwtxcC_QQKhH9Hr3SxA][image: https://lh5.googleusercontent.com/b4V_xQRkniWya7er88m2hm8vJFxlfFJq_6RLXu0cHbZKmOv2DWI2J5aGb0oOXf8FxFYMwtVWv2_eC3yTLC_cGCwbxiCaE_8kjGp5sZI8TW4-FpHiFslOZkfoj8JdMLE-3eeKegdr][image: https://lh5.googleusercontent.com/ncPCK5qt-TC68HRdM59eKwtisOUX53lF9UcvqiqTWq2QQqBtCdT-0u_H7Jcr__erjabMaUg5yN3BwY4yQLM2CivlyohJQHnFlai8OhCe9FfEJqFE8pTNrakXBXS9mYwJLcKulhWg]
                                                                                                                                          



7. (A.12B) The domain of f(x) = -4.1x + 2 is {1, 2, 3, 4}. What is the range?  



8. (A.12B) The range of f(x) = 5x is {0, 5, 10, 15}. What is the domain?



9. (A.12A) The function f(x) = {(1,3), (2, 6), (3, 9), (4, 12)} can be represented in several other ways. Which is not a correct representation of the function f(x)? 


0. y = 3x where x is a natural number.  
0. x is a natural number and  y is 3 times x.

C.   [image: ]                                                               D.           yD.    						3
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10. (A.12A) Which representations do not show y as a function of x?

  [image: https://lh6.googleusercontent.com/YwB7g_4ttL1LFrpSqhqp2o1dksxpkKwPINVoW0Jv--cLesniQamNoXTk9Dj2RrXvcpHIyT2hGIq1gcH18CXk_KR3KxoMlfnJBMIdUZWnIqthLgybUz6K8EvEstmodSDtjrGR0yzY]                                                                  {(-1, -2), (0, 1), (-1, 4), (7, 7)}[image: https://lh5.googleusercontent.com/GajWl-O87z54sLaNhGoirdRspB8xN-RK30CtVMr0OohP1JZkOXcf4Oco9xQo4itUehvWVSWodwnB7pFtfZXKaiM5AwGVELIpAeAunQKxu-LCCTxHlGcASIYAzmZYRvufOdZ1g4tp]                 [image: ]
                                                    
11. (A.4A and A.4C) Find the correlation coefficient and the best fit line of the given data.
	Age, x
	Mean Earnings, y

	20
	51

	25
	55

	30
	70

	35
	43

	40
	60

	45
	45

	50
	20

	55
	65


 
12. (A.4A) Find the correlation coefficient of the data below.    Record your answer with the number grid.  Round to the nearest hundredth (2 decimal [image: ]

	m&ms
	3
	5
	9
	11

	Total cost
	5.3
	4.8
	6.2
	9


places).                                    



13. (A.12A) Which situation below represents the graphed relationship?                           [image: https://lh5.googleusercontent.com/-rHeTX5XzIcF1XMvlTSRtemiYCVfRgepW7N69rhXi3LS2YHDdRCjmpmMx8JEe-jGYz5rhrDOmmWi3MQatHoQNvpgVr4pm30ZTcFGhlXpeBYhMVfikK15ICAqlYiuO9Z7Xqk-16Pl]
A.   A school bus going 30mph approaches a school zone, slows to 20mph, then speeds back up as it leaves the school zone. 
B.   A school bus slows to a stop and loads a student then accelerates back to its speed
  






14.   (A.2A)   Which representations of a function below have the correct .domain and range listed underneath them?
	
[image: https://lh5.googleusercontent.com/tL7p_OJKdFKFR7M845DvOZjhS4NVZ16kjzgLnPEahh1npU2erZYVayyfBGrv4xWvvMvL8f16p6HId9iMc27V14ZmgIIZg8ESKbp7dIrTBg8yjLTaj7o_iA3PP5RnbgQYU3bSBRzk]
	
[image: https://lh3.googleusercontent.com/W_EShAjSUWsdkuu55P0nCTg67EblQj4iRHN5RGe88HnUeYwbjq6G2zU5Gzvi5mAxLl2gpfoV3dhRS-uY37unPVSQ_2fo1xlmem-FshBdaMMvZlnW03HFaqRq1t89m-tzoo-hb2RL]
	
[image: https://lh4.googleusercontent.com/-yA5jCPRZO3nWYGqMHtAg9ee96z4Gk2VmqKmw-yB4N78Bt1x0ZLvfqfiiPwqwvyka3BldgE332Ulg5pU03Qtf--v7gMiV-G_eJZjwTqhmvzzUtzswQ2FmEZjB6oaIyPNWI1TVnnt]
	The total height, h, of a stack of cans is a function of the number of layers of 4 inch cans used.  This situation is represented by h(n) = 4n.  (maximum of 6 cans)

	I. D:    x -        R:     y0
	   II.    D:  x =1
           R:   y < 2 
	   III.  D  -5 x<0 
         R:  -2<y4
	IV.   D: { 1, 2, 3, 4, 5, 6}
      R: { 4, 8, 12, 16, 20, 24}



A. I and II	B. I, II, and III		C.  II, and IV		 D.  I, II, III, and IV

15.(A.12A) Which below is a true statement? 


[image: https://lh3.googleusercontent.com/YvlIkrhCBM7LMphqQJIdYxZEv0w93gToKxZX58a-3x12QoXuqx3W4uhb57GAuo2PECGau4yrmeDgOmFCj0UbpVxmxOL4o45h4-NDFJB3-LbgSzCoYWLfIYpreha0965e6hcfTu45]
A. The number of words typed per week is constant
B. The graph should be connected
C. The graph should not be connected
D. The graph is not a function













16. (A.2A) Identify the domain and range of the function represented by the graph. 

[image: https://lh6.googleusercontent.com/ICoK5F5X-8g5aglVVSSFH_mchTGqmIU-GFf6EPUzexPT90N97GtTZIJxPBsqQFYNumnGvBiUw0DlD6tlu-BKC8l1kyNOMQqtZiyhQrmqy_muVxGDJ5kCvOLZa71B8U39X8ULX6nC]


17. (A.4C)
[image: https://lh6.googleusercontent.com/aaXLDByi_NeWa4D4xCo-viAAQ2WWKk-X0-Wg2pqnUggd3c6l2Lg-lEZjexb35WoxwJ3UC-qrhDQL7AQp3ID7RPA7lmVrLazUeykEaxhGUO3FcT78BpV35ZpIq2lCBiw9QOCfqywr]

18. (A.4C) The scatterplot shows the monthly high temperatures for Austin, Texas, in degrees Fahrenheit
over a 12-month period.

[image: https://lh3.googleusercontent.com/94AsEDm5SNMPRYQt5jdgFj_5ISWnF8AMLJzrArNlar8Plup5ErcsZZtgElFir-3V99H02_YV1cacjetiEa_WPQ55rFMcm7AGoLLAienKbdBqD6EM7y4gyCi9qCgnfpi-1SOE99zt]





Write a function that best models the data from Month 5 to Month 8
[bookmark: _GoBack]
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The table represents some points on the graph of a linear function.

Which function represents the same relationship?
A h(x)=-3x-10.5

B h(x)=-x-3.5

€ h(x)=3x-10.5

D h(x)=x-3.5
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